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PERCENTAGES, PROFIT AND LOSS,
DISCOUNT AND PARTERSHIP

1. Express 36 % as a fraction.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_v2vnm4Hx0Tpz

l ° Watch Video Solution

2.Express 64 % as a decimal.

° Watch Video Solution

3. Express 20 25 Per cent.

° Watch Video Solution

4.Find 36 % of 30



https://dl.doubtnut.com/l/_v2vnm4Hx0Tpz
https://dl.doubtnut.com/l/_63DbHNV36ZzS
https://dl.doubtnut.com/l/_zsDoLDbwqHxs
https://dl.doubtnut.com/l/_453G9pofxBgQ

l ° Watch Video Solution

5.x is what per cent of y ?

° Watch Video Solution

6.y is what percentage of x ?

° Watch Video Solution

7. What percent of 3.6 km is 360 metres ?



https://dl.doubtnut.com/l/_453G9pofxBgQ
https://dl.doubtnut.com/l/_YjchFMovh82Q
https://dl.doubtnut.com/l/_NPdpqcPHfNX4
https://dl.doubtnut.com/l/_k5kcKnRq51dm

l ° Watch Video Solution

8. Find the number whose 30% is 36

° Watch Video Solution

9. By what per cent is the sum of Rs90 by

1
11.5%

o Watch Video Solution



https://dl.doubtnut.com/l/_k5kcKnRq51dm
https://dl.doubtnut.com/l/_FkVsFHVzCrBw
https://dl.doubtnut.com/l/_qtb8FLyQms31

10. If anils salary is 20% less than Raju salary
then by what percent is Raju's salary more

than that of Anil ?

o Watch Video Solution

11. Mohit's weight is 40 kg and and Rohan's
weight is 35 Kg. By that per cent is Rohan's

weight less than that of Mohit's

o Watch Video Solution



https://dl.doubtnut.com/l/_gbIxElAgbFSe
https://dl.doubtnut.com/l/_qK2NLHpgtrk9
https://dl.doubtnut.com/l/_iC0BFgCKC0rl

12. In an examination , Mohit secured 60% of
the maximum marks which is 45 marks more
than the pass marks . If the pass mark is 45%
then find the maximum marks in the

examination

o Watch Video Solution

13. The price of an article is decreased by 20%
By what percentage its consumption must be

increased so that the expending on it increase


https://dl.doubtnut.com/l/_iC0BFgCKC0rl
https://dl.doubtnut.com/l/_ii57Oe12qeec

by 10% Choose the correct answer from the
following options

A.10 %

B.25 %

C.33. % 0

D.37.5%

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ii57Oe12qeec

14. In an office 60% of the employees are
female 30% of the female employees have
children and 20% of the men employees have
children.what percentage of employees have
children. Choose the correct answer from the

following options.

A. 28 %

B.26 %

C.30 %

D.32%


https://dl.doubtnut.com/l/_IbDYYAXOsfGJ

Answer:

o Watch Video Solution

15. A shopkeeper bought a cycle for Rs 1200
and sold it for Rs 1500 . Find his profit or loss

percentage

o Watch Video Solution

16. Rakesh pruchased a Tv for Rs 500. He paid

Rs 250 for its transportation . If he sold the TV


https://dl.doubtnut.com/l/_IbDYYAXOsfGJ
https://dl.doubtnut.com/l/_wgEqeH6w8rk4
https://dl.doubtnut.com/l/_UjCES6mJgWO1

for Rs 5075 then find his profit or loss

percentage .

° Watch Video Solution

17. By selling 24 pens Kranthi lost an amount
equal to the CP of 3 pens Find his loss

percentage

° Watch Video Solution



https://dl.doubtnut.com/l/_UjCES6mJgWO1
https://dl.doubtnut.com/l/_ysjjcJXVSRgC

18. Naresh sold two books for Rs 600 each
therby gaining 20% on one bool and losing
20% on the other book. Find his overall loss or

gain percent.

° Watch Video Solution

19. By selling a ball for Rs 39 a shopkeeper
gains 30% At what price should he sell it to

gain 40%

° Watch Video Solution



https://dl.doubtnut.com/l/_MOL2ymlCPU0G
https://dl.doubtnut.com/l/_QppnJDeEHYiE

20. A merchant marked his product at 50%
above the cost price and then allowed 50%
discount before selling it . The selling price of
the product was Rs 225. What is the profit that
he made incurred out of this ? Choose the

correct answer from the following options:

A. profit of Rs 37.50

B. profit of Rs 75

C.loss of Rs 75

D. loss of Rs 37.50


https://dl.doubtnut.com/l/_QppnJDeEHYiE
https://dl.doubtnut.com/l/_9FDDleXxwUOR

Answer:

o Watch Video Solution

21. The cost price and the marked price of a
watch are Rs 200 and Rs 300 . It was sold at a
discount of y% the profit percentage was
%y % .Find the value of y from the following

options

A. 16. -

B. 25


https://dl.doubtnut.com/l/_9FDDleXxwUOR
https://dl.doubtnut.com/l/_0zlS4RzuF37F

C.33. =

D. 20

Answer:

o Watch Video Solution

22. Satish and Kranthi started a business with
capitals of Rs 12,000 and Rs 18,000 respectively
. The business made a profit of Rs 3500 .Find
the share of Kranthi and Satish in the profit at

the end of the year.



https://dl.doubtnut.com/l/_0zlS4RzuF37F
https://dl.doubtnut.com/l/_7E1mJHoa4AfO

\ o Watch Video Solution

23. Rakesh set up a factory with a capital of Rs
90.000 Ramesh joined him later with an
investment of Rs 50,000. The total price
earned at the end of the year was Rs 68,000
find when Ramesh joined Rakesh as the
partner if Rakesh's share in the profit is Rs

48,000

o Watch Video Solution



https://dl.doubtnut.com/l/_7E1mJHoa4AfO
https://dl.doubtnut.com/l/_eT1PC01KKDtI
https://dl.doubtnut.com/l/_8DyUXqtR7Vq5

24. Naresh, Gopi and Sarath started a business
with investments of ¥ 10000, ¥ 20000 and ¥
20000 respectively. After 6 months Gopi
withdrew an amount of ¥ 5000 from his
investment. After 3 more months, Sarath
added ¥ 10000 to his investment. If at the end
of the year, the total profit earned is ¥ 36000,

then find the share of each.

o Watch Video Solution



https://dl.doubtnut.com/l/_8DyUXqtR7Vq5

25.1n a business P,Q,R and S are four partners .
Ps investment is twice R 's investment Q 's

investment is 1 of S's investment and P and Q

invested equally . If the total profit at the end

of the year is Rs 13,000 then find the sum of

the share of p and R in the profit.

A. Rs10, 000

B. Rs3000

C. Rs4000

D. Rs5000


https://dl.doubtnut.com/l/_gMfw63gTuU6g

Answer:

o View Text Solution

Test Your Concepts

1.26% of 640 is

° Watch Video Solution



https://dl.doubtnut.com/l/_gMfw63gTuU6g
https://dl.doubtnut.com/l/_TsUXL1o1ulZr

2.1f X is 20 % more than Y then what per cent

of Yis X ?

o Watch Video Solution

3. Find the value of 99% of 1500 +45% of 360 +

55.99% of 3600.

o Watch Video Solution

4'f1°25°/th )
.|.4|s o, then 16|s



https://dl.doubtnut.com/l/_udkajHvvLqlO
https://dl.doubtnut.com/l/_76oeIkP0hVEF
https://dl.doubtnut.com/l/_0NcIbhWWFX2e

o Watch Video Solution

5. if 13% of a number is 28 then 26.52% of the

same number is

o Watch Video Solution

6. the ratio of incomes of Akshay and Aravind

11
is 4: ? Income of Aravind is less than that

of Akshayby %

o Watch Video Solution



https://dl.doubtnut.com/l/_0NcIbhWWFX2e
https://dl.doubtnut.com/l/_HQoeyrZ839hN
https://dl.doubtnut.com/l/_iWpK5z7SncG4

7. Koutons an apparel showroom offers two
successive discounts of 50% and 20% what is

the single equivalent discount percentage

° Watch Video Solution

8.In the cost price of an article is Rs 64 and it

selling price is Rs 80 then profit percentage is

° Watch Video Solution



https://dl.doubtnut.com/l/_iWpK5z7SncG4
https://dl.doubtnut.com/l/_SC5sW9teaeP0
https://dl.doubtnut.com/l/_3FRYJjejUrOH

9. If cost price if Rs 100 marked price is 200%
above the cost price and discount offered is

50% then profit per cent is

o Watch Video Solution

10. If Nityananda scored 25% more than

Adviata then Adavita scored % less than

Nityananda.

o Watch Video Solution



https://dl.doubtnut.com/l/_RUE9fU22wMUA
https://dl.doubtnut.com/l/_yoAjd9YDlgfS
https://dl.doubtnut.com/l/_RtN1Cp4mE7r3

3
M. If 2a = 3b,b = e and ¢=0.8d then find by

what percent is a less / more than d.

° Watch Video Solution

12. If the cost price of five apples is equal to
the selling price of 3 apples then find the

profit percentage .

° Watch Video Solution



https://dl.doubtnut.com/l/_RtN1Cp4mE7r3
https://dl.doubtnut.com/l/_atVr4QjAl5w7

13. If the cost price is obtained by multiplying
the selling price by % then find the profit

percentage

o Watch Video Solution

14. This year the number of children in a
colony is three times that of the previous year
. What is the percentage increase in the

number of children in the colony ?

° Watch Video Solution



https://dl.doubtnut.com/l/_WXsm8Iq5uRI0
https://dl.doubtnut.com/l/_BKjPoHdoC1Nv

15. Anumber becomes 63 after it is reduced by
12.5%

The original number is

o Watch Video Solution

16. 50% of 50% of 50% iof 10 % of 560is ____

o Watch Video Solution



https://dl.doubtnut.com/l/_BKjPoHdoC1Nv
https://dl.doubtnut.com/l/_5Y7ynITztKgW
https://dl.doubtnut.com/l/_6zDcahdFRpkP

17. when calculated on selling price profit is

found to be 25% find the actual profit percent.

° Watch Video Solution

18. If Krishna and Balaram share profits in the
ratio 3: 5 at the end of the year. Then the
share of Krishna in the total investment of Rs

16,000 crores is Rs

o Watch Video Solution



https://dl.doubtnut.com/l/_WDYCPtUfT5uZ
https://dl.doubtnut.com/l/_GlcpbM7SGrlP
https://dl.doubtnut.com/l/_DP4nlhZnFbZX

19. If Nanda sold and article ar Rs 40 and
earned 100% profit then what should be the

selling price to earned profit of 300%

o Watch Video Solution

20. An article is marked up by 100 % if a
discount of Rs 12 on it is equal to 10% then

the cost price of the article is

o Watch Video Solution



https://dl.doubtnut.com/l/_DP4nlhZnFbZX
https://dl.doubtnut.com/l/_5LdtmpPDDaX6
https://dl.doubtnut.com/l/_nmZjT7Lei6GP

21. An increase in the side of a sauare by 20 %

results in % increase in its area.

° Watch Video Solution

22. When the selling price is Rs 80 there is a
loss of 20% .Find the selling price to earn 40%

profit .

° Watch Video Solution



https://dl.doubtnut.com/l/_nmZjT7Lei6GP
https://dl.doubtnut.com/l/_70bOPM75Iq32

23.1In a lass ,40% of students are girls . Of the
total number of boys 50% failed in an exam.

What per cent of the boys passed in the exam?

o Watch Video Solution

24. Ram and Lakshman started a business by
investing Rs 30 Laks and Rs48 lakhs
respectively. The ratio in which they share the

profit is

o Watch Video Solution



https://dl.doubtnut.com/l/_EoAZHSfG867h
https://dl.doubtnut.com/l/_mZAuUFie6c8K

25. Santan sells a diamond at a loss of 10 % if
he had sold at a profit of 5% he would have
earned Rs 37.5 lakhs more. What is the cost

price of the diamond/

o Watch Video Solution

2
26. The cost price of a machine is 66. 3 % of

its selling price then profit per cent is

° Watch Video Solution



https://dl.doubtnut.com/l/_mZAuUFie6c8K
https://dl.doubtnut.com/l/_z48ybqa6Cm5x
https://dl.doubtnut.com/l/_Raslb5IknPUo

1
27. A person sells 33. 3 % of his property at
20% loss .At what profit per cent should he
sell the remaining property to earn 20% profit

on the whole?

° Watch Video Solution

28. if 30% of 40% of x=60% of 12.5 % of 96.

then x is

o Watch Video Solution



https://dl.doubtnut.com/l/_7wMo0PolMvEh
https://dl.doubtnut.com/l/_AI55DmM9w9xO
https://dl.doubtnut.com/l/_JYb7deRLmRCx

29. if two bikes are sold at the same price so
that there is a profit of 45 % on one bike and
loss of 45% on the other . The net result of the

transaction is (loss / profit) and it is

%

o Watch Video Solution

30. Every year there is a 30% hike in Rama's
salary . If his present salary is Rs 2000, then his

salary after two years will be Rs

o Watch Video Solution



https://dl.doubtnut.com/l/_JYb7deRLmRCx
https://dl.doubtnut.com/l/_kTqLqTRWX1uZ

Short Answer Type Question

1. the selling price and the marked price of an
article are Rs 132 x and Rs 165x respectively . If
the article is marked 65% above the cost price
and a discount of Rs 198 is given then find the

profit on the article

° Watch Video Solution



https://dl.doubtnut.com/l/_kTqLqTRWX1uZ
https://dl.doubtnut.com/l/_gfqWFXIErc53

2. the cost of a piece of land increases by 50%
every year from 2005 onwards If the difference
in the cost price of the land between the third
and the second year is Rs 67,500 then find the

cost of the land in 2005.

o Watch Video Solution

3. In an election there were only two
contestants.

The democrats secured 35% valid votes more


https://dl.doubtnut.com/l/_w6bn1vBWMfRr
https://dl.doubtnut.com/l/_DYM1uMenZlN0

than the republicans if 6% of votes were
invalid then what percentage of the total

votes polled was in favour of the democrats

° Watch Video Solution

1
4. By selling an article at 1 of its actual selling
price a trade incurs a loss of 50% . What will
be the profit per cent if the trade sells the

article at its actual selling price?

° Watch Video Solution



https://dl.doubtnut.com/l/_DYM1uMenZlN0
https://dl.doubtnut.com/l/_0OxcVPvK43C1
https://dl.doubtnut.com/l/_41gyUOIbmECD

5. An electric room heater is sold at $880 after
a reduction of 12% in its price .What was the

original price in dollars before the reduction ?

° Watch Video Solution

6. A dishonest trader declares to sell his goods
at cost price but gives only 960 gms for every

1kg. Find the error percentage.

° Watch Video Solution



https://dl.doubtnut.com/l/_41gyUOIbmECD
https://dl.doubtnut.com/l/_R0JhMIlUKMeX
https://dl.doubtnut.com/l/_qC4cChEulITo

7. A mock IITJEE exam constitutes of 150
questions.

Each correct answer fetches 4 marks . There is
a penally of 2 marks for every incorrect answer
and a penalty of 1 mark for every unattempted
question Find the percentage of marks scored
by the students by attempting 120 questions

of which 33. 3 % are incorrect.

o Watch Video Solution



https://dl.doubtnut.com/l/_qC4cChEulITo

8. Noel and Mathew save 20% and 30% of
their income if their expenditures are equal
and Mathew's income is $5600 then find Noel

's savings (in dollars).

o Watch Video Solution

9. In an election there were only two
candidates A and B.A secured 60% valid votes

more than B nad 9% of the total votes were


https://dl.doubtnut.com/l/_UY0F9jUKo49g
https://dl.doubtnut.com/l/_bv9revE7GYcH

invalid What percentage of the total votes

was in favour of A

° Watch Video Solution

10. A trade suffered a loss of 15% by selling ans
article Had the sold it for Rs 100 More , he
would have made a profit of 5% .find the

article cost price.

o Watch Video Solution



https://dl.doubtnut.com/l/_bv9revE7GYcH
https://dl.doubtnut.com/l/_a98b9D23qxIC

11. the price of a commodity is decreased by
25% By what percentage must its
consumption increase so that the expenditure

on its remains unchanged?

° Watch Video Solution

12. Find the single discount equivalent to

successive discounts of 25% and 20%

o Watch Video Solution



https://dl.doubtnut.com/l/_CsNhPHodXYdz
https://dl.doubtnut.com/l/_7EznqeWd3auA
https://dl.doubtnut.com/l/_fjAsxwWejEYZ

13. Ajay marked an article at 60% above its
cost price Find the maximum percentage of
discount he can offer and still avoid incurring

a loss.

° Watch Video Solution

14. Find the single discount equivalent to

successive discount of 20% and 10%

o Watch Video Solution



https://dl.doubtnut.com/l/_fjAsxwWejEYZ
https://dl.doubtnut.com/l/_5YvznLnZ7ct7
https://dl.doubtnut.com/l/_SrErzZriXGmO

15. Profit percentage is numerically equal to
the cost price of an article on selling it for Rs

31.25 Find the cost price.

o Watch Video Solution

Essay Type Question

1. Anthony spends = % of his salary towards
expending on food , 2x% of the remaining on
transport 3x% of the remaining towards

various bills 4x% of the remaining towards


https://dl.doubtnut.com/l/_SrErzZriXGmO
https://dl.doubtnut.com/l/_Tr7l5gaU0qtq

loan repayments if the expenditures are
denoted as F,TB and L, respectively if x is 10
then what is the ascending order of these

amounts?

o Watch Video Solution

2. Three merchants AB and C marked three
identical articles each ar Rs 2000.A sold his
article after two successive discounts of 40%

and 20% C sold his article after successive


https://dl.doubtnut.com/l/_Tr7l5gaU0qtq
https://dl.doubtnut.com/l/_oclsW7ltMMSG

discounts of 50% and 10% .Find the highest

selling price.

° View Text Solution

3. In a business ,AB,C and D are the four
parther A's investment is thrice C's investment.
B's investment is 3 of D's investment .A and B
investment equally .The total profit at the end

of the year is Rs 16,00.Find the sum of the

shares of A and C in the profit.

° Watch Video Solution



https://dl.doubtnut.com/l/_oclsW7ltMMSG
https://dl.doubtnut.com/l/_NiSHQPcYYecp

4. Amar ,Bhuvan and Chetan have some marble
with them. Bhuvan has 20% more marbles
than Amar and Chetan has 10% less marbles
than Bhuvan . If the total number of marbles
with them is 328 then find the number of

marble with Bhuvan.

o Watch Video Solution

5.1n a business ,Gita and Sita invested in the

ratio of 4: 5 At the end of the year they earned


https://dl.doubtnut.com/l/_NiSHQPcYYecp
https://dl.doubtnut.com/l/_JZFEWO0uCGK7
https://dl.doubtnut.com/l/_jQjiMSvUBPm6

a profit of Rs 72,000 if Sita's salary is included
the ratio of their earning is 1:2 Find the salary

of sita.

o Watch Video Solution

Concept Applications Level 1

1. The population of a city increases by 20% at
the end of every year. During which of the
following years , the population would be

doubled ?


https://dl.doubtnut.com/l/_jQjiMSvUBPm6
https://dl.doubtnut.com/l/_bmmJBjrdhz4M

A. second

B. third

C. fourth

D. fifth

Answer: C

o Watch Video Solution

2.if 20% of a and 40% of b is 230 and 40% of
a and 20% of b is 190 ,then b is what

percentage more or less than a ?


https://dl.doubtnut.com/l/_bmmJBjrdhz4M
https://dl.doubtnut.com/l/_jZXPBijaqKRs

A.08

B.0.6

C.05

D.04

Answer: A

o Watch Video Solution

3. In all the three sections of Woodland High
school there are 50,70 and 80 students , those

who secured F grade are 10% ,20% ,and 30%


https://dl.doubtnut.com/l/_jZXPBijaqKRs
https://dl.doubtnut.com/l/_KmhXgsDGAULF

respectivelyWhat percentage of the total

students in the school secured F grade ?

A.12.5

B.15.6

C.21.5

D. 23.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KmhXgsDGAULF

4. In a test Arun scored 20 % and failed by 10
marks Bala scored 40% in the same test and
obtained 10 marks more than the pass mark.
Find the maximum marks.

A. 100

B. 300

C. 400

D. 200

Answer: A

‘ ° Wiadk~hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_wpAk1DXol5gs

YVOILLIL VI INAGINI L] J

5.0n an occasion 40% of the young men wear
grey hats 60% of the remaining young men
wear black hats. What percentage of the
young men wears meither grey hats nor black

hats ? (No young man wears both grey hat

had black hat )

A.0.12

B.0.18

C.0.24


https://dl.doubtnut.com/l/_wpAk1DXol5gs
https://dl.doubtnut.com/l/_8N9xnFEXTOt0

D. 0.25

Answer: C

° Watch Video Solution

6. If a number x is increased by 20% and then
reduced by 20, it results in 160 .Instead , if the
number x is rduced by 20% and increased by

20 then what will be the result?

A. 140


https://dl.doubtnut.com/l/_8N9xnFEXTOt0
https://dl.doubtnut.com/l/_Y4h6Kdn8BhqW

B. 144

C. 148

D. 152

Answer: A

o Watch Video Solution

7. the price of a commodity is decreased by
25% By what percentage must its
consumption increase so that the expenditure

on its remains unchanged?


https://dl.doubtnut.com/l/_Y4h6Kdn8BhqW
https://dl.doubtnut.com/l/_e6TGhySqAHoo

A.0.25
B.0.2

1
C. 33. 3 %

D.10 %

Answer: B

o Watch Video Solution

8. If the cost price of 15 articles be equal to the
selling price of 20 articles, then find the loss %

in the transaction.


https://dl.doubtnut.com/l/_e6TGhySqAHoo
https://dl.doubtnut.com/l/_JwBcgRzSdjsX

A. 25% profit

B. 20% profit

C.33.33% loss

D. 25% loss

Answer: D

o Watch Video Solution

2
9. In a test by scoring 41. §% of the
maximum marks a student obtains 10 marks

more than the pass marks .By scoring 30% of


https://dl.doubtnut.com/l/_JwBcgRzSdjsX
https://dl.doubtnut.com/l/_xFN7mS19IEEt

the maximum marks another student scores 4
marks less than the pass mark. Find the actual

pass percentage

2
A.11.§%

1
B. 22. E%

1
C.33. 3 %

2
D. 66. 3 %

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_xFN7mS19IEEt
https://dl.doubtnut.com/l/_A89hgrgJR7nq

10. The profit made in selling 25m of a cloth
equals the selling price of 5m of that cloth.
Find the profit percentage

A. 25 %

B.20 %

1
C. 33. 3 %

D.15 %

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_A89hgrgJR7nq
https://dl.doubtnut.com/l/_UnOdaPa8BpTG

1. Ajay sold two motorbikes for Rs 40,000
each. He sold one at 20% profit and the other
at 20% loss. Find the profit or loss percentage
in the whole transaction.

A. 2% profit

B.3% loss

C.4% loss

D. No profit no loss

Answer: C

’ o Watch Video Solution


https://dl.doubtnut.com/l/_UnOdaPa8BpTG

12. A sold an article to B at 30% loss B sold it
to C at 20% profit and C sold it to D at 10%
profit . If D bought if for Rs 924 then the cost
price for A. (in Rs)

A. 1200

B. 1050

C.900

D. 1000

Answer: D


https://dl.doubtnut.com/l/_UnOdaPa8BpTG
https://dl.doubtnut.com/l/_rAWsPqCB6N7U

o Watch Video Solution

13. Raja spent 0,5x% of his monthly salary on
rent. He spent x% of the remanining salary on
food .2x% of the remaining salary on transport
and 4x% of the remaining salary on various
bills . It these expenditures are denoted by R,F
,T and S, respectively and if x , is 20 then find

the ascending order of these expenditures.

A.RS,FT

B. R,F,T,S


https://dl.doubtnut.com/l/_rAWsPqCB6N7U
https://dl.doubtnut.com/l/_2AQab85ioa0A

C.R,T,FS

D. R,F,S,T

Answer: B

o Watch Video Solution

14. In a certain season the Indian cricket team
had a 40% success rate in the first 80 matches
it played. What is the minimum number of
additional matches it must play so that it has

a 60% success rate for the season ?


https://dl.doubtnut.com/l/_2AQab85ioa0A
https://dl.doubtnut.com/l/_lEybOUugIqzp

A.30

B.40

C.45

D. 35

Answer: B

o Watch Video Solution

15. In the cost price of 20 articles is equal to
the selling price of 15 articles then find the

profit or loss percentage.


https://dl.doubtnut.com/l/_lEybOUugIqzp
https://dl.doubtnut.com/l/_h3ELM35GNWbA

A.20 % loss
B. 25% profit
1
C. 33. 3 % profit

D. 25% loss

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_h3ELM35GNWbA
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In x denotes the percentage increase in the
number of first generation innigrants from
1990 -2000 and y denotes the percantege
increase in the total population of US from

1990-2000 which of the following is equal to

(x-y) ?

A.0.125

B.0.122


https://dl.doubtnut.com/l/_3554RPlY4zeb

C. 0.096

D. 0.075

Answer: D

o View Text Solution

17. Trader A gives a single discount of 30% and
trader B gives two successive discounts of
20%and 10% on an identical article. If the

discount given by A is Rs.600 more than the


https://dl.doubtnut.com/l/_3554RPlY4zeb
https://dl.doubtnut.com/l/_QyMNyBqlkUNv

discount given by B, find the marked price of

the article.

A.Rs 1500

B. Rs 3000

C. Rs 30,000

D. Rs 600

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QyMNyBqlkUNv

18. X sells an article to Y at 15% profit . Y sells it

to Z at 10% profit What is X's cot price if Y

markes a profit of Rs 23

A.Rs 230

B.Rs 200

C.Rs 150

D. Rs180

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_m9kTOYcdBzPO

19. When a discount of 10% is given on
markled price,the gain of trader is 20 % What
will be profit percentage,if a discount of 13 %
is given?

A. 012

B.0.16

C.0.2

D.0.24

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_CyxS0xmbmHJG

If p denotes the percentage increase in the
number of the first generation immigrants
from 1995-2005 and q denotes the percentage
increase in the total UK population from 1995-

2005 find p-q

1
A.13. 5%

2
B. 26. §%


https://dl.doubtnut.com/l/_CyxS0xmbmHJG
https://dl.doubtnut.com/l/_8StrBPyoRSBG

C.33. — %

D.46. — %

Answer: B

o View Text Solution

21. A shopkeeper marks the price of an article
50% above the cost price and declares a
discount of 20%. If profit earned is Rs. 30, then

find the marked price


https://dl.doubtnut.com/l/_8StrBPyoRSBG
https://dl.doubtnut.com/l/_94zsDI7QuHg8

A.Rs 150

B. Rs 180

C.Rs 225

D. Rs 250

Answer: C

o Watch Video Solution

22.1n a business P,Q and R are three partners .
Thrice P's investment is equal to twice Q's

investments and R's investment is equal to


https://dl.doubtnut.com/l/_94zsDI7QuHg8
https://dl.doubtnut.com/l/_1rRJK9gyfp44

twice P's investment

: : .4 :
Q's period of investment is gtlmes P's period
of
investment and is twice R's period of
investment .If the total profit at the end of the

year is Rs 52,000, Find the sum of the shares

of P and Q in the profit. (in Rs)
A. 32000
B. 36000

C. 40000

D. 28000


https://dl.doubtnut.com/l/_1rRJK9gyfp44

Answer: B

o View Text Solution

23. Ratan spends 70% of his income. His
income increases by 25% and his expenditure
also increased by 25% .Find the percentage
increase in his savings.

A. 25

B.30

C.10


https://dl.doubtnut.com/l/_1rRJK9gyfp44
https://dl.doubtnut.com/l/_gu4VyLPSewZ3

D. No change

Answer: A

° Watch Video Solution

24. The selling price of article is Rs 39. If
numerical value of profit percent is equal to
cost price then find the cost price of the

article

A. Rs28


https://dl.doubtnut.com/l/_gu4VyLPSewZ3
https://dl.doubtnut.com/l/_oA7OJTma7VwJ

B. Rs32

C. Rs30

D. Rs35

Answer: C

o Watch Video Solution

25. the selling price of an after giving three
successive discounts is Rs 7560. If the marked
price is Rs 15,000 then which of the following

can be the successive discounts?


https://dl.doubtnut.com/l/_oA7OJTma7VwJ
https://dl.doubtnut.com/l/_heVXpDHzqhJ6

A. 8,16,24

B. 5,10,15

C.10,20,30

D. 10,3045

Answer: C

o Watch Video Solution

26. A trader marks his product 30% above his

cost price and then offers a 30% discount


https://dl.doubtnut.com/l/_heVXpDHzqhJ6
https://dl.doubtnut.com/l/_4ArqMa67upOK

Find his cost price if the incurs a loss Rs 900.

(in Rs)

A. 12000

B. 10000

C. 9000

D. 8000

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4ArqMa67upOK

27. the loss made in selling 20 m of a cloth
equals the cost price of 4 m of that cloth .Find
the loss percentage

A.20 %

B.25 %

1
C. 32. 3 %

D. 40 %

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WirUvCud6FLp

1. Three merchants P.Q, and R marked three
identical articles each at Rs 4000 ,respectively
P sold his article after two successive
discounts of 40% each. Q sold it after
successive discounts of 50% and 30 % R sold it
after successive discounts of 60% and 20 %

Find the least selling price (in Rs)

A. 1320

B. 1280


https://dl.doubtnut.com/l/_0YAQX7FmqTfN

C. 1440

D. 1200

Answer: B

o Watch Video Solution

2. A shopkeeper marks the cost of two
identical articles one 100% above the cost
price and the other 50% above the cost price .
If a discount of 20% is allowed on each of

them then find the overall profit percentage


https://dl.doubtnut.com/l/_0YAQX7FmqTfN
https://dl.doubtnut.com/l/_WmSQ0fBHKMwL

A. 10 %

B.20 %

C.30%

D. 40 %

Answer: D

o Watch Video Solution

3. The profit made by a merchant in selling 5 m
of a cloth was equal to the cost price of 2 m of

the cloth. Find this profit percentage.


https://dl.doubtnut.com/l/_WmSQ0fBHKMwL
https://dl.doubtnut.com/l/_c3cdAp136QH3

A. 30 %
B. 40 %
1
C. 33. 3 %

D. 45 %

Answer: B

o Watch Video Solution

4. The price of an article is increased by 20%

By what percentage must its consumption be


https://dl.doubtnut.com/l/_c3cdAp136QH3
https://dl.doubtnut.com/l/_WyQ4m0h259ph

reduced so that the expenditure on it reduces

by 10% ?

A. 20 %

B.30 %

C.25%

D.15 %

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WyQ4m0h259ph

5.
As per the information given in the above
table approximately by what percentage is the
total number of students in class A is less than

those in class B?

A. 0.09

B. 0.

C. 011

D.0.13


https://dl.doubtnut.com/l/_zuUXfYYXmAOW

Answer: C

o Watch Video Solution

6. A person bought two articles for Rs 1800. He
sold the first article at a profit of 25% and the
second at a loss of 20% . On the whole there is
neither loss norgain . Find the cost price of

the second article

A.Rs 800

B. Rs 1000


https://dl.doubtnut.com/l/_zuUXfYYXmAOW
https://dl.doubtnut.com/l/_h0LJYS34BprY

C.Rs 900

D. Rs 1200

Answer: B

o Watch Video Solution

7. The ratio of the marked price and the cost
price of an article is 5: 3 .If a loss of 2a% is
obtained after giving a discount of 4a% then

find a


https://dl.doubtnut.com/l/_h0LJYS34BprY
https://dl.doubtnut.com/l/_Drzah592embn

A. 14.

B. 12.

C. 13.

D. 14.

NS g gw o

Answer: D

o Watch Video Solution

8. Three person X, Y and Z started a business
with investments in the ratio of 3:2:4. The

ratio of their periods of investments is 5: 6: 7.


https://dl.doubtnut.com/l/_Drzah592embn
https://dl.doubtnut.com/l/_e5ScgnqWQFQI

The differense in the shares of profits of X and
Z is what percentage of the share of profit of Y
at the end of the year (Approximately)

A. 120 %

B.108.33 %

C.115.25 %

D. 125.66 %

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_e5ScgnqWQFQI
https://dl.doubtnut.com/l/_LntAl4diXOy3

9. Ajay invested Rs m for 7 months and Rs n for
the remaining period . Sohail ivested Rs n for
the first 9 months and Rs m for the remaining
period . If at the end of the year they share
profits equally then what is the relation

between m and n

A. m=n+1

B. m-n=2

C. m=n

D. m+n=2


https://dl.doubtnut.com/l/_LntAl4diXOy3

Answer: C

o Watch Video Solution

10. Ramesh spends 60% of his income .His
income increased by 40% and also his
expending by 40% The percentage of increase
in his savings is

A.20 %

B. 30 %

C.40 %


https://dl.doubtnut.com/l/_LntAl4diXOy3
https://dl.doubtnut.com/l/_PPT60suWNcVv

D. 50 %

Answer: C

° Watch Video Solution

11. A dishonest shopkeeper sells the items at

cost price. But, for every kg he gives 200 gm

less.His profit percentage is

A.0.2

B. 0.25


https://dl.doubtnut.com/l/_PPT60suWNcVv
https://dl.doubtnut.com/l/_ok6e3In4p3QO

C.0.3

D. 0.15

Answer: B

o Watch Video Solution

12. Preetam bought two mobile phones for Rs
4800 .He sold the first mobile phone at a loss
of 15% and the second at a profit of 25% . On

the whole there was neither loss nor gain. The


https://dl.doubtnut.com/l/_ok6e3In4p3QO
https://dl.doubtnut.com/l/_y8bbqHowbMNd

cost price of the second mobile phone is

A.Rs 1800

B. Rs 3000

C. Rs 1200

D. Rs 2400

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_y8bbqHowbMNd

13. The selling price of a TV, after giving two
successive discounts, is Rs.15,840. If the
marked price is Rs.20,000, then which of the
following could be the successive discounts
given on the marked price of the TV?

A. 10,15

B. 12,15

C. 10,12

D. 15,18

Answer: C


https://dl.doubtnut.com/l/_rvQd2YxNjPNQ

o Watch Video Solution

14. In a business AB and C are partners .Twice
A's investment is equal to C's investment Also
B's investment is equal to 2 of A's investment
A's period of investment is equal to 4 times
C's period of investment and A and B invested
for the same period . If the total profit at the

end of the year is Rs 44,000 then find the sum

of the shares of A and B in the profit.

A.Rs 22,000


https://dl.doubtnut.com/l/_rvQd2YxNjPNQ
https://dl.doubtnut.com/l/_dXrmPUhHkjff

B. Rs 11,000

C. Rs 16,500

D. Rs 33,000

Answer: B

o View Text Solution

15. Ramapada had just enough money to
purchase either 30 pens or 50 pencils . He
decides to spends only 80% of his money and

buys 10 pens . At the maximum how many


https://dl.doubtnut.com/l/_dXrmPUhHkjff
https://dl.doubtnut.com/l/_6si5Wmu5nFg8

pencils can he buy with the remaining money

that he has ?

A. 23

B. 24

C. 25

D. 26

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_6si5Wmu5nFg8

16. A trader claims to sell his goods at cost
price. But, he gives only 900 g for every kg.
Find the profit percentage.
1
AlL 5 Yo
1
B.9. —
11 &
C.10 %

2
D. 12. §%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VPY8QYcCYM8d

17. Amish sold an article at two -thirds of the
marked price and suffered a loss of 16. 3 %o
Find the percentage of profit if he sold the

article at the marked price.
A. 20 %
B.25 %
2
C.16. = %

3

1
D. 33. 3 %

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_EBLTwBBEcqP9

18. Raman suffered a loss of 10% by selling an
article Had he sold it by Rs 180 more he woul
have made a profit of 2% .Find his cost price
(in Rs)

A. 1350

B. 1800

C. 1650

D. 1500


https://dl.doubtnut.com/l/_EBLTwBBEcqP9
https://dl.doubtnut.com/l/_18wbPcuU8LLf

Answer: D

o Watch Video Solution

19. Anil bought certain number of books at the
rate of 12 books for Rs 18 and sold them at the
rate of 18 books for Rs 30.Find his profit /loss
percentage
1
A9 = o

B.10 %

1
c.11.§%


https://dl.doubtnut.com/l/_18wbPcuU8LLf
https://dl.doubtnut.com/l/_gURApXAgedef

1
D. 12. 5%

Answer: C

o Watch Video Solution

20. In an election there were only two
contestants P and Q 14% of the total votes
polled were invalid The number of valid votes
secured by P was 15% more than secured by Q.
What percentage of the total votes was cast in

favour of Q?


https://dl.doubtnut.com/l/_gURApXAgedef
https://dl.doubtnut.com/l/_YMqyXfjR75ES

A. 048

B.0.375

C.04

D. 0.315

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YMqyXfjR75ES

1. Bindu goes to a shop to buy a gift costing Rs
1500. On her request the shopkeeper allows
two successive discounts of x% and y%
(z < y) . Bindu buys the gift for Rs 1188
including sales tax of 10% Which of the
following could be the discount rates offered

by the shopkeeper ?

A.15%,20 %
B. 20 % m25 %

C.20 %, 30 %


https://dl.doubtnut.com/l/_gQW0TwGru4yf

D.10 %, 20 %

Answer: D

o View Text Solution

2.In the year 2001, the population in a village
is x . Every year the population increases by
10% . In which year for the first time will the
population of the village be at least 50% more

than that of year 2001 ?

A. 2005


https://dl.doubtnut.com/l/_gQW0TwGru4yf
https://dl.doubtnut.com/l/_gqHyi232KwXA

B. 2006

C. 2004

D. 2007

Answer: B

o Watch Video Solution

3.In a family a person saves 30% of his income
. If his salary is increased by 20% and saving
are decreased by 20% then find the

percentage increase in the expenditure.


https://dl.doubtnut.com/l/_gqHyi232KwXA
https://dl.doubtnut.com/l/_IC1Gq6DmlmL2

A.34. — %

B.37. = %

C.41. = %

D.43. — %

Answer: B

o Watch Video Solution

4. A sold an article to B at 10% profit . B sold it
to c at 20% profit. Find the price at which A

bought the article if B's profit is Rs 44. (in Rs)


https://dl.doubtnut.com/l/_IC1Gq6DmlmL2
https://dl.doubtnut.com/l/_MnmZ7fCIGLNr

A. 150

B. 200

C. 250

D. 100

Answer: B

o Watch Video Solution

5. A person spends 20% of his salary on house
rent 20% of the remaining salary on clothes,

2
16. 3 % of the remaining on pertrol and 30%


https://dl.doubtnut.com/l/_MnmZ7fCIGLNr
https://dl.doubtnut.com/l/_tU5h7KeRCsPa

of the remaining on food . If after incurring

the above expenditure his savings are Rs 147

then find his his salary.

A.Rs 480

B.Rs 300

C.Rs 350

D.Rs 420

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_tU5h7KeRCsPa
https://dl.doubtnut.com/l/_jrX1MYbqJLnK

6. In an office 30% of the employes are
nummarried , 20% of these employees are
post-graduates. The number of married
employees in the office who are post-
NP .
graduates is 3. 3 times that of the unmarried
employees who are post-graduates. What
percentage of the married employees are

post-graduates?

A. 30 %
B.32 %

C.30 %


https://dl.doubtnut.com/l/_jrX1MYbqJLnK

D.27 %

Answer: C

o Watch Video Solution

7. Aman . Bhavan and Chetan divide a certain

amount among themselves. The average of the

amounts with them is Rs 1180. Amar's share is
1

33. 3 % more than that of Bhavan's and
2 )

16. § % less than that of Chetan's.Find

Amar's share (in Rs)


https://dl.doubtnut.com/l/_jrX1MYbqJLnK
https://dl.doubtnut.com/l/_frmb9GbbthPD

A. 1050

B. 1200

C. 1350

D. 1500

Answer: B

o Watch Video Solution

8. In a certain season the Indian cricket team
had won 30% of the first 60 matches it had

played Find the minimum possible number of


https://dl.doubtnut.com/l/_frmb9GbbthPD
https://dl.doubtnut.com/l/_5fdLfUoSxBOm

additional matches it should play to achieve a

success rate of 44% in that season.

A. 20

B.15

C. 25

D. 30

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5fdLfUoSxBOm

9. Mohan and sohan started a business.
Mohan was a sleeping parther in the business.
Sohan being the working parther took a
certain monthly salary .At the end of the first
year the total amount of profit was Rs
3,00,000. The ratio of Mohan's and Sohan's
shares was 9:11 . If Sohan's annual salary was
excluded , the ratio of their shares become 9: 7

. Find hte monthly salary of sohan. (in Rs)

A. 5400

B. 5000


https://dl.doubtnut.com/l/_aJvJ0KP56t7a

C. 7500

D. 7800

Answer: B

o Watch Video Solution

10. X and Y are two natural numbers. The sum
of thrice of X and twice of Y is 230. If 3X
increases by 40% and 2Y increases by 30%

then their sum will increase by 84. If X


https://dl.doubtnut.com/l/_aJvJ0KP56t7a
https://dl.doubtnut.com/l/_ei2omLpj7RIk

decreases by 40% and Y decreases by 30%

then their sum will be

A. 58

B. 66

C. 52

D. 46

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ei2omLpj7RIk

11. Giri sold two books . The selling price of a
book equals the cost price of the second book.
He sold the first book at 10% profit and the
second book at 10% loss. Find the overall

profit /loss percentage.

5}
A. 5T % profit

5

B. 9 % loss

10
C. ETh % profit

10
D. o % loss

Answer: D


https://dl.doubtnut.com/l/_6zWrrc5tmTXY

° Watch Video Solution

12. P sold an article at 20% profit to Q. Q sold
it at 10% profit to R. the profit made by Q was
Rs 24 less than the profit made by P .Find the
cost price of the article for P. (in Rs)

A. 250

B.300

C.360

D. 200


https://dl.doubtnut.com/l/_6zWrrc5tmTXY
https://dl.doubtnut.com/l/_cpjlNZs0RIU4

Answer: B

o Watch Video Solution

13.1In a class, 45% of the students drink orange
and 90% of the remaining students drink
Maaza No student drinks both Maaza and
orange. Find the percentage of students in the

class who drink neither Maaza nor orange.

A 4.5%

B.6.5%


https://dl.doubtnut.com/l/_cpjlNZs0RIU4
https://dl.doubtnut.com/l/_GtWZD05wCex4

C.7.5%

D.5.5%

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GtWZD05wCex4

